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12) Complete the table.

Feature y=sinx y=CcosX p=tanx y=cotx p=secx y=cscXx
Domain = e w72 T+Tn| x2Tn [ x25+Tn | x Z2TTN
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vineroepts | (0, 0) [(T+Wn,0) | (rn,0) [(E+Tm ) | none | none
et | (0,0) | (0, 1) | (0,0) |none | (9 1) |nnt
Period ATT 27T a7 7 27T QT
Amplitude \ \ AN A N A N A MN &
EvenorOdd | ),/ . e e nalol 0d eUeh ool
SypmELy 0o ‘Nl N-exrs orign] 0rdin | ~aXis | drvgin

13) Graph the parent functiofis of y = cofx and/;L CcsSCX.
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14) Graph two peY‘ods of the functlon
p=4
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19) Determine the exact value in degrees.
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a) arccos[ ] ,_}5/ b) tan™ (0) — _D l c) arccsc( ) = Afz—) d) sec ( 3

20) In each equat|on below, circle the angle measure and put a square around the trigonometric ratio.
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21) Fill out the chart below.

Domain Range

y=cos" x (_— —\ [ o} Trj
f(x)=arcsinx [_ ‘] ’B‘“ ’E]
g(x) =arccot x K ( 0 | W}

22) Use your calculator to estimate each (in degrees).

a) sin™'(0.42) b) arctan(-2.3) c) csc”! (—j = 1 Q3.6
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